
Corner enclosure mount for 
DWC-MPH2W28TW and DWC-MPPH2W28TW 

pinhole camera.

Quick Start Guide

Tel: +1 (866) 446-3595 / (813) 888-9555

Technical Support Hours: 9:00AM – 8:00PM EST, Monday through Friday

digital-watchdog.com

NOTE: Download all your support materials and tools in one place.

  1.      Go to: http://www.digital-watchdog.com/resources    
  2. Search your product by entering the part number in the ‘Search by Product’ search bar.  Results 
          for applicable part numbers will populate automatically based on the part number you enter.
  3. Click ‘Search’. All supported materials, including manuals 
          and quick start guide (QSGs) will appear in the results.

DWC-PHCENW

WHAT’S IN THE BOX ADDITIONAL TOOLS NEEDED

2 x M2 x 4mm Screws 2 Small adjustable wrench 1

2 x #10 Screws 2 Small Phillips head screwdriver (PH1 or PH0) 1

2 x Plastic Drywall Anchors 2 1/4” Drill Bit 1

1 x Allen Wrench (T-10 Torx) 1 5/32” Drill Bit 1

1 x Camera Bracket Ass’y 1

1 x Clear Viewing Window 1



Quick Start Guide

Rev: 01/23
Copyright © Digital Watchdog. All rights reserved.  

Specifications and pricing are subject to change without notice.

INSTALLATION

Unpacking
Unpack the enclosure and handle with care. If any item is missing or appears to have been damaged in shipment, contact your 
DW representative and request a replacement. Keep the box for future use, it is the safest container in which the enclosure may 
be transported.

4. Attach the camera bracket to the backbox using the two M2 screws provided. Run 
the camera cable through the knockout and connect the camera to the network box. 
Using the adjustable mounting bracket, move the camera to the desired field of view, 
then tighten the M2 screws.
5. Refer to the camera manual to adjust camera settings as needed.

6. The enclosure has tinted (default) and clear viewing window options. In low-light 
conditions, it may be desirable to use a clear viewing window. Remove the two 
(2) nuts securing the window retaining plate using a small adjustable wrench to 
change the viewing windows. Remove the plate and the window. Place the clear 
window in the frame, replace the retaining plate, and secure it by tightening the 
nuts to equal pressure.

7. Reinstall the camera faceplate. Position the locating pin at the bottom of the camera case. Slide the faceplate up to align 
the two threaded holes. Install the screws and tighten them to finish.

 

 

 

 

 

 

 

 

 

 

Mounting 
Holes (4)

Cable Entry 
Knockouts (4)

Installation
1. Remove the cover by removing the two (2) flat head screws with the Torx wrench provided. 
2. Using the enclosure, mark and drill at least two (2) mounting holes and one (1) cable entry hole for the fasteners and conduit/
cable run.
a. If using the fasteners provided, drill a 1/4” hole for the drywall anchors and tap them lightly into place. b. If no anchor is 
required, drill 5/32” holes for the fasteners.
3. Position the backbox over the drilled holes and install the fasteners. Tighten until secure.


